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=== GENERAL INSTRUCTIONS TO CANDIDATES

1. The question paper comprises two parts, Part I and Part II.

2. Part I comprises Multiple Choice Questions (MCQs).

3. Part II comprises questions which require descriptive type answers.

4. Ensure that you receive the question paper relating to both the parts. If you have not
received both, bring it to the notice of the invigilator.

5. Answers to MCQs in Part I are to be marked on the OMR answer sheet as given on the
cover page of descriptive answer book only. Answers to questions in Part II are to be
written in the same descriptive answer book. Answers to MCQs, if written inside the
descriptive answer book or on Part-I Question paper will not be evaluated.

6. OMR answer sheet given on the cover page of descriptive answer book will be in
English only for all candidates, including for Hindi medium candidates.

7. The bar coded sticker provided in the attendance register, is to be affixed only
on the descriptive answer book.

8. You will be allowed to leave the examination hall only after the conclusion of the
exam. If you have completed the paper before time, remain in your seat till the
conclusion of the exam.

9. Duration of the examination is 3 hours. You will be required to submit (a) Part I of
the question paper containing MCQs, and (b) the answer book in respect of
descriptive answer book with OMR cover page to the 1nv1g11ator before leaving the
exam hall, after the conclusion of the exam.

10. The invigilator will give you acknowledgement on Page 2 of the admit card, upon
receipt of the above-mentioned items.

11. Candidate found copying or receiving or giving any help or defying instructions. of
the 1nv1gllators will be expelled from the examination and will also be liable for
further punitive action.

PART -11 ; 70 Marks

1. Question paper comprises 6 questions. Answer Question No. 1 which is compulsory

and any 4 out of the remaining 5 questions.

2. Working notes should form part of the answer.

3. Answers to the questions are to be given only in English except in the case of

_candidates who have opted for Hindi Medium. If a candidate has not opted for Hindi
Medium, his/her answers in Hindi will not be evaluated.
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PART -1II
Tesco Cycles Ltd. uses about 3,60,000 cycle locks per annum and the
usage is fairly constant at 30,000 per month. The cycle lock costs

© 240 each at wholesale rates and carrying cost is estimated to be 10%

of the annual average inventory value. The cost to place an order is

X 1200. It takes 45 days to receive delivery from the date of order. In

order to avoid any kind of disruption in assembly line, safety stock of

6,500 cycle locks is always maintained by Tesco Cycles Ltd.

(Assume 360 days in a year).

Compute :

() E.O0.Q.

(i) The re-order level.

(iif) The company has been offered a quantity discount of 2% on the
purchase of cycle locks provided the order size is 30,000 units at

- atime, Advise whether quantity discount offer can be accepted ?

A company produces two products, A and B, through a joint production

process.. The total joint production cost incurred is as under :

Material - - %20,000"
Labour - 210,000
Variable Overheads -  ¥6,000
Fixed Overheads - T 24,000

Product A and B can be sold for 2'20 per unit and %15 per unit
respectively at éplit off point. The produced quantities are Product A -
2,000 units and Product B - 4,000 units.

DHG2(H)
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(i) You are required to calculate the joint production cost allocation

for each product using the :
(a) Physical unit method.
(b) Contribution margin method.

(ii) Product B can be further processed by incurring expenditure of
%12,000. Loss in further processing is 2%. It can be sold @ %18
per unit. Explain the impact on profitability if Product B is
further processed.

Following data is available for XYZ Ltd. for the month of February 4
2024 :

Standard working hours 8 hours per day of 6 days per week
No. of weeks in the month 4

Maximum capacity : 150 employees

Actual working g 125 employees

Actual usage of Budgeted Capacity Ratio 86%

Efficiency Ratio 110%

‘You are required 'to calculate the following :

(1) Actual Hours worked.

(i) Standard Hours for actual oytput.
(iii) Activity Ratio. |

(iv) Standard Capacity Uéage Ratio.

Luxury Designer Pvt. Ltd. is a manufacturing company, which 8
manufactures readymade designer shirts. It has four customers: two
wholesale category customers and two retail category customers. It has
developed the following Activity-Based Costing system :

DHG2(H) P.T.O.
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Activity Cost Driver Rate %)
Order Processing 1,260 per purchase order
Customer Visits 1,500 per customer visit
Regular Delivery 30 per delivery Km. travelled
Expedited Delivery 4,490 per expedited delivery

List selling price per shirt is ¥ 1,000 and average cost per shirt is
% 600. CEO of Luxury Designer Pvt. Ltd. wants to evaluate the
profitability of each of the four customers for the year 2023, to explore
opportunities for increasing profitability of his Company in the next
year 2024. The following data in context of four customers are

available for 2023 :

Wholesale Retail
Customers Customers
WC-1 | WC-2 | RC-1 | RC-2
Number of Purchase orders 50 65 224 245
Number of Customer visits 10 13 25 22
Regular Deliveries 46 52 175 198
Kilometers travelled per 20 15 10 25
delivery
Expedited Deliveries 5 16 50 62
Average Number of Shirts | 215 110 18 15
per order
Average Selling Price per | 700 T800 | T900 | T950
Shirt

DHG2(H)
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You are required to :
Calculate the customer-level operating income and operating income
as a % of revenues in 2023 and rank them on the basis of relative

profitability.

(b) Star Airlines operates a single aircraft of 180 seats capacity between 6
city ‘ND’ and ‘GA’. The average normal occupancy is estimated at
70% per flight. The average one-way fare is 312,500 from city ‘ND’
to ‘GA’. The costs of operation of the flight as collected by an expert

analyst are :
Fuel cost (Variable) per flight from ‘ND’ to ‘GA’ T2,28,000 per flight
Food served on flight from ‘ND’ to ‘GA’ T 270 per passenger
(no charge to passenger)
Commission paid to Travel Agents (All ticket 7.5% of fare
booking through agents)
| Fixed costs ;
Lease & landing charges per flight ‘ND’ to ‘GA’ %9,12,000
Salaries of flight crew per flight ‘ND’ to ‘GA’ 290,000
Note : Assume that fuel costs are unaffected by the actual number of

passengers on a flight.
You are required to :
(i) Calculate the net operating income that Star Airlines makes per flight
from ‘ND’ to ‘GA’.
(ii) Star Airlines expects that its occupancy will increase to 144 passengers
per flight if the fare is reduced to ¥ 11,670. Advise whether this

proposal should be implemented or not.

DHG2(H) P.T.O.
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3. (a) A factory is currently working at 60% capacity and produces 12,000
units of a product. Management is thinking to increase the working
capacity either to 70% or 90% level. It is estimated that at both the
levels, it will be able to sell all the produced units. The other details

are as under ;

o At 70% capacity, the cost of raw materials increases by 4% and

the selling price falls by 3%.

e At 90% capacity, the cost of raw materials increases'by 5% and

selling price falls by 4%.

e At 60% capacity,.the product cost is ¥ 360 per unit and it is sold
at T 400 per unit. |

e  The unit cost of T 360 consists of the following :

Material - %200
Labour : . - T60
Factory overhead - R 60 (50% fixed)

Administrative & Selling overhead - Z 40 (60% fixed)

e  Additional advertising cost of ¥ 20,000 is to be incurred for
selling the product above 80% capacity.

You are required to :

(i) Calculate the profits of the company when the factory works at
60%, 70% and 90% capacity level.

(if) Offer your comments regarding increase in the capacity based on

profit calculated.

DHG2(H)
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(b) S.K. Manufacturing Co. Ltd. showed a net profit of T 5,40,400 as per 7
their cost accounts for the year ended 31.03.2024. However, the
financial books disclosed a net profit of ¥ 2,60,500 for the same
period. The following information was revealed as a result of scrutiny
of the figures of both the sets of books:

T
Factory overheads under absorbed 84,800
Administrative overheads over absorbed 24,000
Interest paid on bank borrowings 50,000
Interest & Dividend received 65,200
Notional rent of own premises charged in cost accounts 60,000
Losses on the sales of fixed assets and investments 48,000
Donations and subscriptions 18,800 |
Overvaluation of closing stock of finished goods in Cost accounts 1,25,000
Store adjustments (credited in financial books) 7,500
Depreciation over charged in cost accounts 40,000
Income tax provided 1,50,000

You are required to :

(i) Prepare a reconciliation statement taking net profit as per cost accounts
as base.

(ii) State when is the reconciliation statement of Cost and Financial
accounts not required ?

(8 Meta Company Ltd. is engaged in the production of product ‘Trio’ 8
which passes through two different processes — Process P and Process
Q. Other information obtained from books of account for the year is as
follows :

DHG2(H) P.T.O.
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Particulars "Process P | Process Q
Raw material used 10,000 -
Raw material cost per unit X 80 -
Direct wages X 52,000 ¥ 78,000
Direct Expenses ¥ 8,600 ¥11,100
Selling price per unit of output | ¥ 130 T 190

Production overheads of ¥ 3,00,000 are recovered as percentage of
direct wages.

Actual output of the two processes was :

P — 9,200 units and Q-6,400 units. 3/4™ of the output of Process P was
passed on to the Process Q and the balance was sold. The entire output
of process Q was sold.

Management & Selling expenses during the year were %1,70,000.
These are not allocable to the proéesses.

The normal loss of the two processés, calculated on the input of every
process was : -

Process’P - 6% and Process Q -10%

The Loss:of Process P was sold at ¥ 5 per unit and that of Q at ¥ 8 per
unit. Assurne that Process P and Process Q are not the responsibility
centres.

You are required to prepare :

(i) Process P Account |

(ii) Process Q Account

(iii) Abnormal Loss and Abnormal Gain Account

(iv) Costing Profit & Loss Account.
DHG2(H)
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(b) The cost variance report was being discussed at a review meeting ¢
vyhere in Cost Accountant of the company reported under-absorption

of production overheads.

The followmg information was available from the cost records of the

company at the end of financial year 2023-24 :

®  Actual production overheads incurred were T 4,50,000 which

included ¥ 42,000 on account of ‘written off” obsolete stores.

.® 18,000 units were produced during the year out of which 10,000

units were sold and 8,000 units of finished goods were in stock.

®  There were also 5,000 units in progress which may be reckoned

as 40% complete.
®  The actual machine hours worked during the period were 43,000.

ABC Ltd. absorbs the production ovérheads at a predetermined rate of
X 8 per machine hour.

On investigation, it has been found that 20% of the under-absorption
of prd'duction overheads was due to defective planning and the rest
was attributable to normal increase in costs of indirect: terlals and
-indirect labour.

You are required to :

(i) Calculate the amount of under-absorption. of production

overheads during the year 2023-24; and

(i) Show the treatment of under-absorption of production overheads

in cost accounts.

DHG2(H) P.T.O.



5.

(10)
i+ DHG2(H)

(a) Super Ltd, a manufacturing company is facing the problem of high

labour turnover in the factory. Before analysing the causes and taking

remedial steps, the management of the company wants to ascertain the

profit lost for the year 2022-23 on account of labour turnover. For this

purpose, it has given you the following information :

¢y

(ii)

(iid)

(iv)

v)

(vi)

Sales for the last year 2022-23 was ¥ 2,16,80,000 and P/V ratio

was 15%.

The total number of actual hours worked by the direct labour
force was 5,00,000 hours. The actual direct labour hours included
60,000 hours attributable to training new recruits, out of which

40% of the hours were unproductive.

Due to delays by the Personnel Department in filling vacancies
on account of labour turnover; 95,000 potential productive hours

(excluding unproductive training hours) wete lost.

1,500 units of the output produced .during training period were
defective. Cost of rectification .of defective units was ¥ 40 pei'

unit.

Settlement cost of the workers leaving the organization was

%2,37,880.

Recruitment and Selection cost was % 1,40,000.

(vii) Cost of Training and Induction was % 1,61,950.

DHG2H)
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Assuming that the potential production lost as a consequence of labour
turnover could have been sold at prevailing prices, find the profit lost

for the year 2022-23 on account of labour turnover.

(b) The following information is given by PQR Ltd :

Year Sales ) Profit/(Loss) )
2022-23 1,80,00,000 (3,80,000)
2023-24 2,40,00,000 . 11,20,000

You are required to :

(i) Calculate the Break even sales.

(i) In2024-25, it is estimated that the variable cost will go up by 5%
and fixed cost will reduce by ¥ 4,80,000. Selling price will

remain same. Calculate the sales volume to earn a profit of

% 15,00,000.

(c) Discuss Feedback Control and Feedforward Control system of 4
budgetary control.

DHG2(H) P.T.O.
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6. (a) Distinguish between cost control and cost reduction. S

(b) Distinguish between Waste and Scrap. Discuss the treatment of normal 5

and abnormal scrap in Cost Accounts.

(¢) Describe Unit Costing and Batch Costing. Give three examples of

industries for each method where these are used. 4
OR

~ (c) Describe briefly idle time and explain the treatment of idle time in cost =~ 4

accounts in following situations :
(1) The setting up time for the machine in case of Direct Worker Mr. A.
(ii) No_fmal break time for lunch in case of Indirect Worker Mr. B.

(iii) Time lost due to breakdown of machine in case of Worker Mr. C.

DHG2(H)
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PART - II

(Hindi Version)

Tesco Cycles Ltd. yfer a9 e 3,6.0,000WWWW%
qYT IE ITAN 30,000 AT W ATE i fRR ¥ | p-fsh W
HTEfeheT ATet Y TFTA T 240 Ffe el § T TG AT (carrying cost)
MYk Jited TR G BT 10% ARG 8 | TF e 2 Y @
(ordering .cost) 21,200 8 |Wﬁ§g&ﬁm$ﬁﬁ e fafyr & 45
fet @ 2 | srtraeht e # fReh weER A e & ey ¥ wwE
I §HT 6,500 FTEfhet ATeil 1 GU&T weleh (safety stock) T&TITT R |
(T 9 § 360 fem i)
‘TWITW
() 3T TR WE (E.0.Q.)
(i) :30eT TR
(iil) T T AR Tl h TG W 2% B 76 T hi e B
TS 2, NI 3TTC T ITRR TH §9 & 30,000 THTATR |
HeATR SIS {96 /e A e Yt Yerpyr whem ) o aehel & |

P.T.O.

U FIHI T IeATe FfshaT g € ICET A AT B T Ieare et .
B | T GIH IeUTeH AT e R 1 S -
et - 20,000
) - %10,000
qiEdasiier suferm - 26,000
e suftemm - 224,000
DHG2(H)
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I A YT B ! AW T 20 Ufd 3H1E aA1 2 15 Ay 3618 Fornifrg

g (split off point) T AT ST HehelT & | IeTfed 1 7 AETE F -

IR A - 2,000 FHTFAT T 3G B — 4,000 FH1EAT

() ITE M@ ? % = g0 yds 3@ % T a3 Iemew
AT % forsrer =t o ot
() Wifer 3ors faftr
(b) 3iveH Hra fafy

(i) IE B < 12,000 T FT AW WHRATAT (further processed)
fra s asar 8 | ST WBFT A 2% TN R | TR H, @ @ s W
TS ST 1 Hehall @ | AT IeUTE B Y 7Y whkamef fwer wman &
A ATHERHAT I INTE Tl T8 HIRAT |

XYZ Ltd. % fere frmfofiga srtens w1g wah 2024 3 fore Suere & -

A BT s wHTE 6 o wfer fem 8 v
uTE # WHTE! hi HEmm | 4

tftrepam g ' 150 e

i 125 ST

FAE FAAT AFITT T ATEAH ST 86%
WA 110%

DHG2(H)
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98 f3 ) o oTfda R

() STt ®E e
(i) STEIfIh IATEA B WS 6
(iii) Tramerema SrguTa
(iv) A FHAT ST U

Luxury Designer Pvt. Ltd. T fafamioft werft 8 s WEiis feomw
TITH 1 o R | 39 TR ATES €
3 UI% Hal UTEH qUT ©f GeU Fa uEd | wer § FrefiRed

et smenia e Fufor vgfh Rk A 2
Tifafaftr AT e & (3)
3TTGT T 1,260 Sfer 37 3RS
3 I Y16 1,500 ¥fer 3113 TeT UTEH
e fereror 30 wfer feraor femsft, <t amn
e ferawor 4,490 il i feraor

gt fosha qew ufd 9 2 1,000 @ wf ¢ affed @ 2 600 R |
Luxury Designer Pvt. Ltd. T J&7 SRR A (CEO) 3t a9
2024 # ot HE 6l ARk # g Y Herarad Y qemy ¥
¥ 2023 % FTQ T IR TTEh! § Tk Y AWERHAT BT oA

HT AT R |
DHG2(H)
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Frfafaa ave af 2023 % fore a il wTEehi & Hed o Suersy &
NF I AEH | G AEH
(Wholesale (Retail
Customers — Customers —
WC) RC)
WC-1 | WC-2 | RC-1 | RC-2
$ HT AT H T&AT 50 65 224 | 245
3T 91 TTEhi Hl FA 10 13 25 22
fafsre s
e foraont < wemn 46 52 175 | 198
i ferawor Rt amn 20 15 10 25
i farawon <t g 5 16 50 62
gfe 3TTew aitda | ht 215 110 18 15
9
i 1 aftea fosr g X700 | X800 | 900 | T 950
39w e B

FET F 2023 T TEH-THT TS0 A (operating income) 3R
TS & % o €9 N YOI A a1 Gafd ANEEERAT & TR T

R e AR |

RN T & ND’ T ‘GA’ % HEF 180 Hie & % T famm
F GO Bt & | Nwa gm= R (Average normal
occupancy) S I8F 70% TTHTG & | T ‘ND’ & ‘GA’ TF Th T
1 3f|a ot 212,500 B | U fodiay faseives g v 3UR W
Tl ST FET AN 2

DHG2(H)
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3 AT (I) Afd I8W I ND’ ¥ ‘GA’ GF % 2,28,000 Sfd I8
TR ‘ND’ ¥ ‘GA’ & Uy IgM ¥ faafa @m 2 270 Wi awh
e} (@t | = T6)

qET o Bl HHA P (@ f he ©= F 7.5% TRt =1
IS & )

fér o d

‘ND’ ¥ ‘GA’ T U 38H UgT Ua eAfe =5 Z9,12,000
‘ND’ ¥ ‘GA’ T I IgM, ISH 3F 1 A % 90,000

Me: A % fom AT Iem o ety wif i v @ onife
g1

3R ST R

@), Rﬁwémﬁm‘ND’ﬁ‘GA’wuﬁmgamm(Na
operating income) %! TUHT FHIRAT | |

(i) VR TRAEH 98 v il g f6 afe fmmn 2 11,670 9 =9 &
fean v <t =t arftndir 144 NP 7 9 @AM | weR RN F
TS W AR foa ST v 7 |

(8) Toh HREHT T A 60% FHAT T B HTd g Th IAE HY 12,000 7
THIGAT ICUTICA AT 2 | T 3HehT HIRIEHAT I 70% ST 90% TR
W G T =R = @1 ] | 77 agmiia R % O @ @l w s
qft Seqfed gepTsal ot e W waw Bl | o1 g fe e E

DHG2(H) _ P.T.O.
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o 70% FUAT T H HIA hl AT 7 4% Jhg a0 foska 791 7 39
H & g R
0 90%mmﬁmﬁmﬁ5%q®wﬁmu@ﬁ4%
Hw et R | ~
o 60% HWAT U, ITUTE shi el TS @ITA T 360 B TUT T T 400 T

TS T ST IR |
o 3HE AN X 360 0 o wive €
gl - %200
5 - T60
FREHT ITNET - 260 (50% fer)

yerEtae wd sk Sufie™ - % 40 (60% fRR)
o 80% FHAAT % FW I H =4 W Al fFmm ave
% 20,000 BRfY |
T e & -
(i) T % TN I TTUHT SHINT T HREHT 60%, 70% IR 90%
&A1 W T LT 2 |
(i) TTOT TR TR W % SR R &wa ® Jfg % ey & o famm
@ | .
SXK. Manufacturing Co. Ltd. ¥ 31.03.2024 =h! GHIH 99 & T 319+
ANTA @1 o STTHR 2 5,40,400 7 g o fe@mn | 7wy, focfta e
7 36 st & T 2 2,60,500 % g AW HT Gora fFAT | AEi ®
NI B & AHS H St ok qRomEEET FEfaled T aE
S

DHG2(H)
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T
HREMI YN =T AT 84,800
SRITE Juie Ay sraior 24,000
I | IUR W A BT LA 50,000
TS TS ATHIN <6l 1T 65,200
FAFTA G| 4 T i G T Hleafe fh age 60,000
vl wf we fafa & Rk w el 48,000
HERC R 18,800
AT G FAR AT % f<H Teh BT I -Ieareet 1,25,000
R gAreH (ferefa @t & smm) 7,500
HARTA 1@ 3 BTE i 3T Feed 40,000
Lammﬁm 1,50,000
3uferd 2 -

() ©TE G F AR Yg TN B AR AR e Frawor-

(Reconciliation statément) IR HIfT |

(i) AT % Fa va ve R St ¥ frem Reor-us €Y stavasa

TEEA R

(a) Meta Company Ltd. ITUE “Trio’ & 3G § Gd & W q =

wfskaT3Al — wfkan P e wikam Q @ oraT R | 9 % fore St yel @

ITH 3= e e g
DHG2(H)
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foraror R p | WHRTQ
T AT AT (313 10,000
i 3T e AT Y AT z 80
LR LK SR 352,000 |Z78,000
T8 % 8,600 311,100
IaUTe H1 ufe g8 fspa ge [ 2130 2190

2 3,00,000 % ICIGH T Nea& Hoigh & FRIIT o AR T TG
™

At wfrnatt 1 areafies SeaTeT o :

P - 9,200 $IEAT 91 Q — 6,400 IhTEAT | Wik P 1 efiq-<=nums
ITE URAT Q W1 ST TR QT AT I ST 7T | TsHAT Q T 99
IcaTe o feam | o & oA yaeae wd fsea = 21,70,000 1 3
= iRl o feraor S T § |

T3 UfshAT & JTFH (input) % YR T TUET Y = St Tfshenedt
g I e ;. ' ‘ .
gfsFn P - 6%WWQ-IO%

sforan p <1 71fY Y 2 5 i 3T e whkar Q it 71 i 2 8 ifel FhTE
=1 T | i 6 wfeear paen wiea Q Rrdierd g i € |

AU TR IR e <6 3ET @

() sk P @

(i) STRAT Q @Ta

(iii) STETETT ST TT STEATHIOT A1 T

(iv) T ATH-TH EaT |

DHG2(H)
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(b) Tk J: ThEwr d3% # wna foerer e W femm fean e fvad

(a)

FEHT % AT AR e YNSHIT o T-FTM (under

absorption) %l [ €1 |

foxfta = 2023-24 6t Tl W FA F @R AE@ F = g

IqAeY o

o Al IeUEH TN T 4,50,000 6y T Rt 2 42,000
‘STafeIRaa’ (written off) FHIE Wrd A & |

o ¥ & W 18,000 IHTEAT ITied i 8 R F 10,000 TS
o<t 71 AT I 8,000 THEAT RN AT RIH A AT

o WU, 5,000 HFAT Fri¥ier sEEAl & w9 off R 40% of

. AT HHATR |

o 39 A ¥ ArEafaes HRS Hefia = 43,000 9 |
ABC Ltd. 3e9q1eH 9= 1 taenwr g fufia 2 8 uefia v
TRFA S |
IRV T 1A g o = -ramifia Searer IaREwt #1 20%
SqUT IS S 6 HROT 91 74T A % R st annft qen
I HH <h! ANTAI H WHT hig i ITGRA SEET 1 |

) o 2023-24 % IR e AR Y - FrETOr TR T

(i) TG Gl § =T~ SR Ieare ITRET % ITAR i A |

Super Ltd. T fAwioft et 8 St wram # 3= 9w freft (High

Labour Turnover) ! @wen ¥ Rifea 8 | welt =1 y@wem Srol &

TreAwor T 9T STTRIHF FeH IS § TR an 2022-23 ® 39

Frpredt & sror o Y T e T 9 § | 39 R A, FE Y

Jaen! frr gEed € 8

() T 2022-23 % o ol 2 2,16,80,000 T TW-ET ST
(P/V ratio) 15% 91 | «

DHG2(H) P.T.O.



(b)

(©)

(22)
DHG2(H)

(i) TIE 9 q GRI Ao 1 "ot h HeT T 5,00,000 T
off | S wouey o el § 7% wida % Tfieror & 60,000 TR
it &, e & 40% w0 STIees & |

(i) ¥¥ Tt F weo fAReE B 9@ § wiffe fwm g 0 %
IS 95,000 SIS Icqreeh ue (R-Iearesh e et
! BIgH) T X |

(v) R sraftr % Qe e 1,500 FETET et o | Q9

- GUR < AT 2 40 9 3RS ot |

) TEAT i BigH I 91 Ff0ehi & fAgem (settlement) Y AT
72,37,880 ft |

(vi) Wl d =R Y AT T 1,40,000 o |

(vii) TFRTET TF AP ) AP 2 1,61,950 o |

Tt for s et & wfomeass @R ™ gwifea 3T ® y=fom

e ST T Feha o | o el % wRw ad 2022-23 # w1 g

IV %I 7T IR |

PQR Ltd g R ger @ $ R :

o Tkt 3) /@) Q)
2022:23 1,80,00,000 (3,80,000)
2023-24 2,40,00,000 11,20,000
IR IR 2 -

i) Wfﬁﬁﬁ fesh (Break even sales) Y TTUFT i |
(i) o 2024-25 #, I & Foh wRedEier @ 3 59 < g Eeft
a9 fRR oA 2 4,80,000 § %9 &1t | fosFa e w9H @ |
" % 15,00,000 T HAN & Y fashT AEM (Sales Volume) Y
T i |

g Frar <6t wfagf e qean fawda sfgf Feeo it w
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